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Vestments; Asperges; Sacraments. 

 
 

 


�� � � � )* � +�� �+%� �
�� -�..� � �* � +%� ���� ���� ��� �� �� ������ �/� � ���

�����0��1� �������%� ����1��0� 0��������0� ����0�%� 2 ��3��0� ��� 4��1�

�����0��� ����� � ���1� 2 ����� ��� ����0�������1� /��� � ���� �������1�������1�������1�������1� 5���

�������06����  � ��� ����1� ����������� ���� ��� 0����� ��� ��������%� ����

�4��12 ����� ����� ���17��� ����� ���� /���������8� ���7�� �� �0���� 1��7���

� �����0� ��1����0� �/� 1��74�� ��4��� ����� ���9 � )� ��:��� ��� ��� � ��� �2 ����

/��2 ���� ���� �/� ���� ������� �������1�����%� ��� 2 ���� ���3�� ��3�� 4������� �����%�

�����������������1��������1��������1��������1�5/��� ��������%����1%���������������� %��������1������9��

���� ����� ������ ���� �����%� 2 ����� 2 ��3�� �� ���� ��3�� �� ���0� � ���� ��4���4���4���4�%�

� ���2 ����%����2 ������������0��0������������������������3����9 �; �������

����36���62 ����6����� /�0����� ����� ������1%� ���� ��2 ���� ���� �����8� �����

������//����������0���������/�%������������������� �
���������������������� ��

������ /�0����� ��� ��������� ���3� �� ��3�� �/� 4������� ������ 5����60����� � ����

+����1�%� ���� ��� ���� ��� ���� �������%� ���01� ������%� ��� 0���9 � ������

������/��� /�0����� 2 ����� ��� ��� ���0���� ���/6������� ������ ���1� ��4�� ������

���3�������8������������1���� �4�������������<�� ���������������������� ����

���������<���������������3����%�����������/���< ��

� -�����������0����� ��1�����0���������������������%�2 ����4������0��

��� ��� 0���0� ��� 2 ���8� ���� ��� 2 �� ������ ���� ������ ������� ��/���� ����

���������� ���� 0��� ��� 2 ���� ��7�� �������0� /��� 52 ����� ��%� ���������0�1�

����0�%������3��9 ��

� .��7�������������'�������0�2 ����2 ����4�������������1 ��

� �� �0�������������������������������1�2 ��3��%�����������������������

/��:��� ��� ����� ��������� ���� � �� ���� ���� ������ ������� � ��������� 3����� /���

����/�������� � �= �7����'�� ���������0���/��� ���/�����/��� �<�����/�������������

����������%�2 �7����'�� ������ ���0�%� ����������������0��/���������������/�����

����%����������0���������������� �������/���:�����������0����%�����3�����

2 ������/�����4���� ��������3���������� ���� ������1�������6����� ��� �0������

/��0��� � �4��0� ���2 �1� �4��� ����� ���0��� ���4��%� �������0� ����0��/���1� ���

��������0��/����������� ��

��
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��������2 ���0>��������2 ���0>��������2 ���0>��������2 ���0>�

? ��= 
)��)� ��= ���� �	 )@ ���/������4���������6�������0>��

� = ��3��2 ����� ����������	 ���������0�����0��2 �7������������� �-���

2 ����0������ ��1���� ��������� ����������/�/��� ����/����� ��� ��<�����/�2 ��2 ����

����������0����� �������1� ��� ��0� ������� ���� 0���0�6��� ��� ���� 
��0�� �

= ����'����1�����������������%�2 �����������1�����1��0%�����2 �����������1�

2 �����0>��

� )����� /��� � ����� �������%� 2 �1� ��� ������ ���� ���1� �����0� ��3�� ����>�

= �1��������������� ��1������������������>�

� ���1����������0��������1�������1�������1�������1%�2 ������ �����2 �����'���� ���������������

/��� ����1 � ���1� ���� � �4��0� ���� ����3��0� ��� ����������%� ��0��/������

�������� ����1����������0�����'����1��������������/������������2 �������1�

�����������4������4��1��1���/� �= ������� ���2 ��3��������������� �/�����/�

������%�����2 ��0��������� �%����0������������%������������/������%����������

�//���1�������0���1%�������� ������������ �����������������1���������������0��

�����������/�������3�����������������3����������������/���1�������0���0����

����0� ��� � �� ����3 � 
�� � �4��� �����1%� ���� 2 ���1��0� � ���� ������ ����

� �4�� �����5��7�� ���3� ���//�����/����4���/��������2 ���19 �
���������������

��������8����1���4������������������0��/������ ��

� ������������'��������2 �1��������4��<��'��������� �+���������1�2 ��7��

��� /��� � �4���� +��4���%� ���� �������� �����7�� ��1����0� 2 ���0� 2 ���� ��%� ����

�����������2 ������%�� ��������������1�������� �� ���%�����0��4��1��/�2 ����

��� ��������0� ��� ����� ��� �� � ���� � ���� �������� ����� ����������1� ����

��/��� ����1%� 2 ����� ���3��� ������ ���� 2 ��0�� � �/� 1��� 2 ���� ��� ���� �����

���3���0%�0�������1���������������� ����������������������/�����$AB#�%�����

�//����� ���1� ��/��� ����1� ��� 2 ������ � �� ��1� C�//���7� ��%� �������� �����0�

C��������17�5����/������ ������0����� 9�����������������2 �1� �������4��2 ����

���/������0�� ��%�= ���� ����* ���������������1������ ���/��� ����1�2 ����

2 ����������� ����0��������� �������������������/������/�� ��%���������3����


�� %�������������0 �������2 ���� ������������������� ������ ����� ��

� -��� 2 ���� 2 �� ���� ������ ����4������ 2 ��� � ���� ���/��� � ��� ����

����������/�������%�2 ������� �4��0�<���������3��0�����/�����0�<��������0����

-�
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������������������������������4�������'�������� �= �������//���������4������

���������� �= �����������/��� ���0������� ��

� �4��1����0�2 ����������������0���������/�����/���:�6/��� ���/�����	 ����

5������%��4��1����0��������������/�������2 �����	 ���9���������������������

������ <� 4��1� /��� ��� �������� <� ���� ��������1� ��� 2 ������ � ����� ����� ��� ���

/����� ������ ��� ����	 ���� �����2 �7������ �����3� �������0���������0��� �)��

���� � �� ���%� ���� � �4��0� /��0��� ���� ��� �� ��� ����� ��� ���� ������� �/�

����������/��� �<��������������2 �����/���������3���������������0���%������0�

	 ���� /��� ���� /����� ��� �� <� ���� ������� 2 ��� ��4�� ������1� /����� ���� �/� ����

�������1�����4��1�����1�������� �

� 5��� ��� 0���0� ��� ��3�� ��� �� ��� �� ��� ��������� ���� ����� �����������

�������0 �+3���������'���2 ������������/�1�����������//����� 9��

����

����

-���3�����2 ����-���3�����2 ����-���3�����2 ����-���3�����2 ��������


����� +���� �* ��)-� ? ��= �)� �* � �+����).��.� �
�+����	 ���������������������

��������4�������1 ������� �0������� ������ ��3����0��������0%���������� �

��������01��������4������������� �4��0�������������������1�����������2 ��

��0��%�������1�����4������%��������������������4����/��������0��0������<�����

�/��������4������������������0������ ��� �����������%������/���� ����1����

���0�%������4����/������������� �� �������/��/��������4��������1������//����0�

� ��� ��� ���������� � ������ 5������� ��3�� �� �����%� ������� ��3�� �� ��4�6���0%�

4��1� ��3�� ��� �����9 � ������ �2 �� ����4�������1� ��� ���� ���� �����%� ���� ����

���/��� � �/� ������� 0��� ����� ��� � ����� ��� ������� ���� � ��4������� ���

����4������ ��

� )����� �������/�/���%�������/��������������0��� �������������0��������

���%����������������0�� ����17���
����������1�����/��������0%�2 ������1��0���0�

��4������� ��� ��������%�� ����2 %���0��/��������������0��/���<������������

2 ����0����������������2 ������������3� �

� ���� ������ �����0����� 0��� ���� ��� ���� ������3������3������3������3 � ��7�� �� ���0� ����3� ���3�

2 ��������4��%����������7������� �����������������������������������%�2 �����

��� ���� ����� � ���� 4������ ��� ��0���4��� ��� 2 ����� ���� �4��1��1� ������� ����

�������� ���7������������������%���� ��������������4��������������������0�����

0�� � ���� ���������� � �1� ���4����1� 2 ���� ����� 0��/��0� ��������%� ���� ����

�����������1���� �1���4����������/���
�2 ������������8�����������7��� ����� �

��
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, �������������������������1���� ��������������3 �
��������������1���� ��%���

� ���2 �������D�������� ��

� �/� 1��� ���3� ���4�� ���� ������ ��� )��������� ���� +�� )0���� 1��7��� ���%�

�������/��� �������/�%�����4�����������������������%�4��1�1���0%�/��� ������%�

�������0������1��/�/�������/��� �������������1�� �� �%�2 �����������/1��0�1�

�������������/ �� ��������������1����������������2 ���� �����<�������������/�

����� ��1� ������ ���� ����� 2 ��� � ����� <� ���� 2 ��� ����� ������� ������ ����

����������/����%����������/�����8�2 ����� �� �����������+��)0���%����������� �

, ��7��� ���������2 �����������2 �����0������������3 �����7��D������������������

2 ���6��6���� �� �����/������0�%�� �������2 �� ��%�2 ��������4������ �������%�

������3��6���0�������� ������������������1���������������4���2 ������/����

���� ���� ��� 4������ �������� ��� 	 ��� � ��� 2 ��� ��3�� 2 �����0� �� 2 ���6���������

�����6���������� ��

� ��� ������'���������1%�2 ��������������/���������������������� ����%�

���� ���� ����� ������� ����� ���� � ���E 4��� �����%� ���� ������� ����������1�

���3��� ���� ������ ���� 3���� ���� ������3%� �� � ��3� �/� �������� ��4����1� ��� ��

���������0�2 ���� �

� ���� ������3� ����� �� ��� ���� ������� ���/��� �1� ����3%� �'����� �����

�������� 2 ���� 4����������%� ���� ��������������<� 4��1� 4������� ���� �//���� ��%�

��� �5��������4����3������2 �����0����D���2 �����������3�%��������1�������

���� ����������� ������1%� ���� �� �������� <� ���7�� 1��>� <� �� �������� 4��0���

�������� ������� ��� ����� ����4����� � ���1� 2 ���� ��� ������� ��������� ����

������8� 2 ������� ���� ��4����0�� �/� ���� 0������ ������� ��� ��� ���� �1�

��/�������������������1��������������������2 �1�������� �
����0������������

0��0������������������ ����������� ��� 9�

� )��� ���� ������� ��� ���� ��������1%� ���� ���� ������ ��� 2 ���%� 2 ����

������3� ������7��������0� ��� ������4��1������� �������0��0������2 �����0�

�������2 ����5���	 ��������4��1�� ���2 ��������
�������%�2 ���������������� ��

�//���9 � ���1� ���� �������� �//����%� ���� ������� �4��1� /�2 � 1����� ��� ��

���������������4������������� ��/�����������3%�������������������0����������

2 �� ������2 ������������1�
��������4�������������%���������������3��6���� ����

� )�������3�����������������������������������  �������������/�$B#&%�

2 ����� ��� ���� ���� ������ ��2 6����� �/� ���� )�0������ ��� � �����%� /������

����/����� �������� /��� � 0���0� ���� ��� ������� F��� ������ �������� ���� �����

2 �������  �  �  � ������3G � �� � 1���/� ��4�� ��4��� ��������� ���� ������� �/� �����
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�����%�������� 1������2 ������������������������ 1�0������������1�2 �����

������������������ �
�2 �4��%���3��� ������'�)�0����������01%�����������/����

0�� ������ ��� �� ������3%� 2 �����0� �������� C������������������������������������7�� �� ���01� ����%� ����3�

������������������������������������%�������1����3��� �������0��0��0��06666������������������������ �<�C� �06

������7� ��� ��� �������� 
�3�� /���������� ����� �� ���������� ����  � ��� ���������%�

������4��1%� ���� ��������6���//� 2 ����� ������ ������ 2 ���� ������ ���� �������1�

���3 �������������������������1�����0������ ���2 �������������0�����������

�1���������������������������������%�������������/���������������36����������

���������4������������������������ �����01�2 ������������������/�'���2 ������

���������������3%����������2 ������0���1�����/������� %����1���2 ������������

������0���� �����/�����������3� ������ ������//������������� ��3�� ���������3���

��������/�����07�������%�������������1���������������������������1��0�1 ��/����

��� ��� ��� ����%� ��������� ���� ���4��������0�1%������/�2 ��� �����2 ����� ����

��4�������2 ��2 ����������������0�����������������0�������3�����������/�����

��������2 ����%����/�����0�����%����6� �4���������1������������������3��0� �

)�������%�����%��4�����������2 ����������������
��������������/1�3���3�������

2 ���� ������ �/� 2 ���� �2 32 ����1� ��4����0� ������ ��0�� ��2 �� ��� ������ �����8�

2 ����� ������ ��� �����4��� ������� /����� �������� �/� ���������� ��������������

2 ��������� ��� ������������%�������1��0�1� �������2 �����������6���//�����/���6

�4������������������� ��

� ���� ������ �/� ��� ����1� ��� � ���� ���� � ���� ������������0� ���� � ����

��������3���/��� �

� ���� ������� 2 ��� ���0�� 
�0�� 	 ���� ��� ��� ���� ��������1� 2 �����0�

C���������7%������������������������0���1����� ���/�������62 ����5��06�����������

�������� ��������9� ���� �������1� �2 ������� ��� �1� ���� �����0����� �������0%� ���

�����������������������������/������������ ����������������4��� ���

� 5H�� ����7����������/�$B#&%�2 ���������������� ���6��6�����������0����

)�0����������01%���4���0������01�2 �����0���������%��4������������/�������

������3�%� ������ ��� 0�2 ��� ���� ���//� /���� ������ ��� ����� <� ���3��� ���

C� �����6������7� /��� � ���� /���� �� ���� ����� ��������� ����� ��� ����1� � ������

���� �������� /���������� 
�3� � � ��1� ����� ��� � 1� ��/�� ��4�� �� ����� �����

����� ���������1�� ����2 ��������1�����������0��� 9��

� ������%� ��� ������%� ��� ���0����� ��� ���� ����3� ������3� ���� � �3�� ����

������������ ����/��� ��%��4��1����2 ������� ��0������������� ����� ���4����

��������������%�������������� ��������������������������������������������<�������������5�/���������������
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���� ������9� ���� �������������������� � ���� ��������� ��� ������ ��� ��2 �1�� 2 ���� � ���� ������

� ������������
�0��	 ���%��/�2 ��� �� ���������� �����%�2 ����������2 ���������

2 ���%� ���� /��� ���� � ���� �����0�� ����� ���� � ���� ��������� � ���1� 2 ����

��3��6���0��� 2 ����� ����������������� �4��� ������ ������3�%� 2 ����� ���� ����� 4�������1�

��4������� �5)���� �����2 ���� 9�)�2 ����������0�����0�����0�����0�����%����������������2 �����

������0���������%����������������������� �-����������������������� ����� ����� ����� ���%��������

�/� ��������������%�2 �����0�����4��� �������3��/� �������38���������/��� �

���� �� ���� ����� 0��� ����� ������ ���� 2 ����%� ���� ��� ���� ������� ���� �� ���� ���

�������� ����� �� ������� ������0� ������ �//��� � � �2 31� ��06�������� ���� �����

����������� �����

����

����

������ ������ ������ ������ ����

)++� �@ +�)� ���� � �)* , � * �8�4���� ���������0��� �����2 �������1����	 ����

�������1��1������������� ���������������� ���������������� ���������������� ��������%��/�2 ��� ����������������������
�0��

	 ����52 �7������������������� �C
�0��	 ���7���'��2 ��39 �

� �������������%�2 ������0���0�������������������= ��������-���������

�//��� ���� +����/���� ��� � ��%� ��� ���� ���1� ��������1� ������� ��� 	 ��� � -��%�

�����1�������������������������������������������� �����%����������1���������

���� �����/�������� ����� ���������%� ��� ���� 2 ���� ��� � �� ������������������������%� ���� ��

������������������������������������ ��

� )��1����������1�3��2 %�����������������C������������������������7��/�� ����������������

�������� ����������������������������%� 2 ��� ���� ����� �� ����������������������������%� 2 ��� ��� ����� ���� ����� ��

���������������������������� � ����� �1���� � ���� �/���� ����� �2 ��3��%� ���� ���� ������ �����6/����

���������� ���� ����� ��� ������ /��� � ���� /����� ������1%� ���� ���� �� ����

/����� ����������4������2  $�, �������������������/������6/����������������1�

�����'�� ����1���/����������	 ��� ��

� ��������������������������������������������������� ������������%�������

��� ������2 �1�������������� ����������0������������<������ ���2 ������������

������7�� 2 ��3� ��� 	 ���� <� ���� ��� �� ����� ������� 5��� ��� �����������9%� ��� ��

������%������������������������������%������������������ ������� �����������

����� ���� ������ ������� � 
���%� ��2 �4��%� ���� ������� ��� ������1� ���

                                                 
1 = ���� ���01� ����������6������1� � ��� ��6��������� ����������� ��������� � ��� ����>� )�1� ����������

�����������2 ����1��/�������� ��0������0������3���������������� ���7���'����1������3�����/�������6�������/���

2 ��3�����������������������
�����1����
����1�����; ���������������01��������/���������� �� �  

��
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� �2 ���%������� ������������8�����1�������� � ����������������������5����

��� ������2 �1����9�����1� �� ����������������/�����������0�� ����� �1���4��

��� �����0� ��� ��� 2 ���� ���� 	 ���� 
��1� ������1%� ���� ��� ��� � ���� ��3��1� ��

� �������/�E ��������������1� � ���1 �

� ����� ���������� ��������1� ��� � ���� ����������1� 4������� ��� ���� ������

������� � ��������7� 4���� ����4���� ����4���� ����4���� ���� � ; ���� ����� ���� ������������ ������ 0��� ����%�

� ����������������������������������3�������1� ����1��������%���3��������3��

����������������������%���0���4�����������������/������4��1��1%�������������

�������1���������4� ����1������������������������������������� ��1���������

������/����������� �1��//����0��/�������7��-��1�����-���� �

� )��
�0��	 ���%�4���� �������� �������� ������0�C������������7��/��� ����������

���3%���������%��/�������%���������0�������������0������������52 �7������ �����

���� �������� �/� ������� ��� ���� 	 ���� ��� �� /�2 � ��������7� ��� �9 � ���� ����

� ������%� ���� ��� ����� 4������� ��� 2 �� ��4�� �� /�2 � � ���� ������� �� 2 ����� ���

� ����� �� �

� �

�

�����������4���� ���� �����������4���� ���� �����������4���� ���� �����������4���� ���� ����

-� ; �� � ? � � 
�� 
� ).�)� %� ��� ���� /��� ��0��%� ��� +�� ; ������%� �� ������� ���

� �� ��� +����� <� �/� 2 ��� � � ���� ������ <� ���� ��� ��� 2 �����0� �� ��001�

0�2 ��2 ��������������1���������1�������������/���������������������� ��0%�����

�� /��� ��� ���� � �/� �4��1��1� �������0%� ������������ ��� ���� ���3� ���� ����

�������������� ����������/���������� �������� �������� �������� ����%������ ��������/������6��������������

2 ���%� ��3�� ���� ������3 � )�� 2 ���� ���� ������3%� ���� ���� ����� ����� ��

������/���� 2 ���� ���� ������%� ���� �����/�����1� 2 ���� ���� ������ �/� �������8�

����������4�4���2 ������������������������������������/��� ��/������������

2 ���� ���� 2 ����7�� /�������� ����� �� � ���� ���� ���� ; ������� 2 ����� ��� ����

������������������/��������� ��������� �2 ��������������0���������4��1�������� ��

� �������������%�� ���2 ����%�2 �����������������������������������%�2 �������4�������/��� �

������������ �� ����4������ �

� �������������������� �������4�%��1����0���4����� ���%������ ��4��1�

���3�%� ���� ����� 5���� 2 ������ ��� ����� �������19� ����� ���� ���� ����� ���� �2 ��

���4����4����4����4�%����������1�������1�������1�������1��<�������������������������<��������������������1���� �

� 	 ���2 ����%��/�������� ��� �����������������D�������//�����������%�����

�������������������������������������������������4���������/�������������� ������0�����/���������0�%�

)�
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����6��3������%������4�����������������������������������3 �* �2 �����������

���� ������� C� �����7� 5�� /����1� �����0��� �/� � �������9%� ��� C/�����6���3�7�

5�� �����%����//����//����%�/������������3�����������������/���4�����9 ��

� ��������1� ����0�%� ���� �����1� ��0��/������ 4���� ���%� ���� ��������������������%� ���

��� ������4������ ���7�������0����������/��/����3%�������������� ���������������

4���� ����%� ���� ��7�� ��� ������1� ��� ���� 	 ����� � ���� ��������� ���� 5���

���������������� �������9��������������2 ���%��������������������� ���������

�4�������� ���������2 ���2 �������� ������������������2 ���%���������������

��� � ������ ������/�����4����0���/������������52 ���2 �����������������4�������

�������<�������������'�����������<��������3������������0�����9 �

� �������)�0��6+�'���������%��������������1����������������/���0�����

��/���� ���� * ��� ��� ���D����%� ������� �/���� ���� � ��1� ������� ���4��� ������

��2 �� ��%� ��� ����� ���� ������� ����3� 2 ���� �� ��������� ������ 2 ����4��� ���

� �4�� "� ����� ������� ����0��/��%� ���� 1��� �������� ������� ��� ��0���� ����

* ��� ������D���� �	 �0���7��2 ������0����� ����3>��

����

����

����������������


�� ���� �� �������� ��������  �  �  � /��� ��������������� 4���� ����%� ���

��������������/����4��1����0�����������2 �����������4�����/�����

������ �����������0������������������� ����������2 ����0�����1��/�

���� �����%� ��� ���� ������� �2 �1� � ��1� ����� ���� ������/���

������ �����/�2 ������������1� �������� �����/�����-������/�������%�

2 ���� ����2 ���������������
�2 ��������/���� ���������������� �1�

����� ���� ������� � ��������� ���1� ����� ��� 2 ���� �1� ���� ��//����0�

������������3��/�������2 ��������1����/6��/����������� � � � ���

�

, ��7�����4��0�������� ����� ��������7��� �� ����3��0 � ��7��� �����= ����%�/��� �

���������������4����������������/�� ������� ��1 �= �����2 ���������������

�������%�������������1�������1������0��0����������/�����������7��2 ������ �

�


�� ���������� �� 0��0����� ����� �/� ���� ���� ���3� ���� 0���6�������

��� ��3%� /�0����� 2 ���� �� ��������0� �������� �/� 0������

                                                 
"�H����� 7-����%�)�
�����1��/�����	 ����5$IJA9%�� �&J �
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��� �0�������� ���� ��� ��'6��������� /��� ��� ������� �%� ��1����

2 ����� ��� ������� ����� 2 ��� ���� ����6������ ��4���� 2 ���0��� ���

����6������ �����������1��2 ������4����������������������������0�

������� /��� � ���� ��/�� �/� ���� ; ��0��%� ���� ���� ����������� �/� ����

; ��0��� 2 ��� /�0����� ��� ��������� ���3�� ����� ���� ���� � ����� 2 ���

��������2 ��3��/�����/�/�������������1 ��

��������� )������� ����� 2 ��� �/� 0����� 4��4��%� �� ���������� 2 ����

�����6������� 0������ �/� ��������6���4��%� /��� � 2 ����� �������

���06���� � ���2 ������������ �%��������������/�2 �����2 �������3���

����2 �������4�������������������������1����� ������ ������������

������K�� ����� ��� 0���6������� ������� 2 ��3 � ���� ������1�� 2 ����

2 �4����������������/���������0���� ���3%�����2 ���� ��������2 ����

� ���������� �/� � ��1� ������� ���� � ���1��%� �� ��0� 2 ��� � 2 ��� +� �

+�������� L��

�

)��1��M�2 �7�������2 �����0�/���+�������� �= ��������������� ���� ��0 �

���� ����0� 2 ���� /��� ���������� ������ ��0� ���� ������ ��� ���%� �� 2 ����

2 �����������������/���1����0���������/������������������������������������ �

���� ���������������0�� �������������� ����� ����1����0��1%�� ���������0��0�

�/���� ����� ��������2 ����������������%������������������� ��

)�� 2 ���� ���� ����0����� �����%� ���� ������ 2 ���� ����� �� �� ������ ��� ����

/����� ���� �2 ����� �� ��0� ��� ����� � = ��3� ��������� � ������������ ��� ����

������������������1����/��/������������ �1 �� �����= ���������� ��1��������

��4����� ��������������1����1��/��������������0���������0��������2 �������/�

� �������1 � ���� ��� ��� ������ ��� �������1� ���������%� ���� � ��� ���

�������������1� ��1� ��� 
��� � ������ � �4��� ��� ���� /����� 0����������� �/� ����

������� ��� 2 ��� ��� ��3��� ����� ��� �� N � ������� ������� �4��� �/� ��41� ����

����/�� N � �/� ����������%� ���� ��������1N  � = ���� ����>� ���2 ����������0%�

�4��1� 2 �1%� 2 ������� ��� ��������%� ��� ��� �����%� ������� ��� ��������8� ���� ��

�������������
����%�1��%�����2 ������
���� &�����7������������M�<����������1%�����

+����� ���������7������������D���� �������������4����� ��4��1�2 �1%�2 �������

�����0�����4�����1��/��������������3��������/�������%������0��������������

                                                 
L�/��� ���������'���/�� ������� ��1�5�����OO2 2 2  ��2 ��� ��� O2 ����O���0��1$$ ��� �9�
&��������������$P6$B%�$I �
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4�'� ���7�� ������%� ��� ������� ���7�� F���������� ���/6�������������G%P� ��� ���

2 ������4��4����� �0���/�+��+��������%����Q��������������0����%��������������

�����������������%�����0��2 �%����2 �����2 ����
���� ��

* ����������%�2 ���������/��0�������������������������1����16���������/�

������� � ��� ��� ���� ���2 ���� ��0�� �/� ���� ����� ����� � ��� ����� �� ��1������1�

������� � �/�
������������%������
����0�����������1������1���������%�����

0���0��������� ��� ���� ��0�� �/� ������ � � /� ������� ��� ��� ���0�����%� ��������

�4��1����0� 2 ����2 ����� ��� ���0�����8� ���� �� ��3�� ��� ��1���� ��������� ���

����� ����� �� ��0�� ���3� ��� ����� ���� ��� ��1���� ���� ������2 � ������� �/��

��������6���4��%� ���06���� � ��� 2 ����� ������� �%� ���4��� ������� ����

�����������1����� ���

� �

����

-���	 ��������7����0���1��-���	 ��������7����0���1��-���	 ��������7����0���1��-���	 ��������7����0���1���

�+), � )..� �
�+� )-� ? ���
�� �
)+? -.�8�1��%�2 ����2 ���'�� ��������/���:�6

/��� �� 2 �� /���� ����� ���� ���������� ��� ���� 2 �����0� �� �������� � �/� 2 ��

0��������������'�����1�5������� �����������������>9%�2 ����1����2 �����0�/���

��� � �4��� ��� ���� ���4��� ��2 � �/� 2 ������ �������� �//� ��� ���� ��0��%� ����

���������������������������� �5��.�����2 ����<�������<�2 ����+������6���3��0��������08�= �����0����

��� ��� ������ ��� ���� ������������������%� ��7�� ������1� ����������� ���6���6

, )9 �= �������� ����������1%����������������������7������ ������4���������/��

������ ��� ��� �4����0���� /��� ��� ��� �����1� �����1��� ������6��2 �%� 2 ���� ����

������ ����������%� ���������������������� �
� �  �	 ���2 ����%����������/���

��������%� ���� ���������� ��� ��� �� ������������������ �� ���41� ��� �6��������� ����3%� 2 ����

�� ���������� C����������������7� ���0��0� ��2 �� ������ � ���� ����� ��0��� ��/�� ��� ��

��������%��������.��������0��0�����������������1���������������4���  �������������

���31%���������������������0�������������������������� �4��0������������ �

, ��7��� ������� ����� ���� ������ ������� � ��������� � �������� ���� ������ � �/�

������0�������3�/��� ���� %����������� ������/��� �

� ����/���� ����� ����������������������������������������������� ��0����

�����	 ����������/�������������� �����0�� � ����������1����1�2 ������������1���

D����� ��������� ���4���� 51��7��� ���� ����� ���� ��������� ������ ��� ���� � ���� �/�

                                                 
P������%�� �AL �

��
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���4�����)+��� � �+%� 
�� 
� 	 )++� )* � � +�� 	 � * � )�� $# ##) 	  �� ���������������

���� �9 ��

� 	 ��1� 2 ��3�� /��� � ��2 %� 2 ���� 2 �������� ����.����� �����%� 2 �7��� ���

������ ������0���������0��%� ���3�������� ���� ������'���� ��1��/�	 ���������/�

��������2 ����4������� ������ ��� ���0��%��4����/���� ����/������������0%�����

������ �������������������������/����������%������� �������� ��	 �� �)�������

/����� �'���� ��1� �/� ���� ����� ������ ��� ��� ��������� �� ������� �� ���� �1� ������

������ ����������0� ���� ����� ���� ����%� �� 2 ���� ���������� � )�� ����

� �0��/������16����� ������������4��� �/� � ��3���� �2 ���� ����� 4��2 %� ���1%�

����2 �%�D���� �= �����������3��1�����/��������0������2 ����2 ���2 �����%�����

2 ����2 ����������������� ��

� = ���� ������� ����� 0��� ��� �������  � = �� ��4�� ����� ��������� C����7�

������%� ����� 
��� ������ ���� ��/������ ��/� � �����/���� 5������ ��� ��� ������

������9� ��7�� ����������� /��� ��� ��� ���������� ���� �//��� ���� �����4�� ����

+����/��� � = �� ��4�%� ��� �����%� �����1��� ���� ������� ��� 4�2 �� ��� /����2 �

��������0���������0����������2 ��2 ���� ��������	 ��� �-��� ��������������� ���

��/���������������� ���/���%����������1��2 �1�/��� ��� �� ���� �����������������

2 ����� �/� ������� � <� ��� ����%� ���/����1� ��� ���%� ���� ������� ������ ����

����������2 ����2 ��� ����2 ���������4�������������������/����1�2 ���� ��

� 
���%� ����%� ��� ���� /����� /���:�6/��� �� /���1� �'������� � ���� ������

�������� ������������3������0���/�������������8��������4���������������0����

����������������������8� ����������������� ������0� ��� ��3�� �������3���/��� �

���� ������ � = �� �������� ���� �)? +�� ������%� ���� ������� ����� �� � = ��

��0��%�����	 ���%���������������/�<�

�

�

����)����0�� ����)����0�� ����)����0�� ����)����0�� ����


�+� �+� �)* � �� ., � ���.�� � ��� )��������� ���� +�� )0���7� 2 ��3�1� ���������

)� � )+��� +�� * �	 � )R ? S � -�* �� ���S %� = )+
�* � � = ��
�

-.�++�� �= )��� %%��������������������/�����2 �������������)� �	 �++)	 %�

����	 ����������%�2 �������0�������������'����0� �

� � /����������7���������� ������2 �����0�����������3���0 ��������������%�

���� ����� ���� 2 ����� �����%� ���0� ���� �/� ���� ������7�� 0�������� ���0�%�

�������� /��� � ���� ������������ /�/�16/����� ����� �� �����0��� � �� �1����� ���

� �������� ��4����� � �� ��� ������ ��4�� � ���������%� ����� ������ ���0�� � ��

��



 14 

2 ���� �1����%� ���� �� ������ ��� �����8� ����� ������ 2 ���� � �%� ���� �� ������ ���

2 ��������������2  B��������
�1����2 ��3���/�������������� ���������/�����'��

��������� ����%�����/��� ����� �� ���� ��������������������������� ���� ���/���

��������/��� �����4���������/�2 ����2 ����������2 ����2 ������)����0���� �%�

� �� ���%��1������������������2 ����� �%�� �.���%�2 �����1���� �

� )�����������1�����2 �1%�����/�����2 �����/�����.��������������� �������

��� ���/���������� ��1��)����0��)����0��)����0��)����0�� ��

� 
1����
1����
1����
1����� ��� �� �����%� ������� ��� �����%� �� ����� ����� ���
����� ��� ����

��������� �/� ��� ����� ���� ���� ������0���� ������������ �/� ����������� ����

/��0�4����� �)����� �������/�/���%� �������������7����4���1�����������������

������� �%����������3���0���������2 ������������/������2 �������%���������4��1�

��� �����������0�����������0�����������0�����������0������  ����������������������������/���0����1�2 ������������

�����8�����������������2 ��/�������8������3��������������%����������0��%�����

���6������%� ��� ���� ��/�%� ����� �4��1���� ����� ��� ���� ��������1 � 
�� ������

5���� ������� ���� ���������� ��/��1� �2 ��� �����%� ��� ����� ��������1� ���

������4��%�����������%��������������7����0��6������ ��%���� �����0��������

� ���� ����������� ��0�� � ������ �� ���� �������� ��4�� �� ��������� �����1� ���

���� 9 � ���� ������ �/� ���� � ������� ��2 �� ���� ��4� � ���� ���0��0������ ����

��������� ��� ���� � �� ���� �/� ������ ������� � <� ������ /��0�4�����%� ��������

�������%�������2 ����������%�������������<��������� �����������/������%��1�

��4��0� ���� ��� �� 2 ����� ����0��� /��� � ���� ������ ���� /���0� ��� ����  � ����

� �� ���� �/� 2 �����0� �2 �1� /��� � � ��%� ����2 ��� ����� +����1� ��� 2 ��

���/���������	 ���%�����1������2 ��3�1������������������2 �1 �� �

� * ��������������������������%���������������� ���������� �= �������������

��� ���������� �1� ��4��0� ����� 2 ����� /���3��� ��� ���� /���� � = ���� �����

/��� ��1��������0���6��� ������0��������/����������%���������������2 ��

���������������������1�����0���0�������/��0�4��%������� ���%��/�����2 ����4��

��������%������� ��� �+��%�����3��1�����4���������������M������/��������2 �

��� ����� �4��� 1���� ���������%� ���� ������ 1���� � ���� � * �����0� �������

���2 ���� 1��� ���� ���������������8� ���� ������ �/� ��������%� ��3�� ���1�0����%�

���� �2 ��0��0� ����� ��� 1��8� 1��� ���� ��� ���� �� ���� ���� ���� /��� � ����

��������������� � � � �

� �

                                                 
B������ ��J�5��������0��������; ��0���������9%������J�5��������0�����������1���-��39 �
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�

= ����������1�2 ����>= ����������1�2 ����>= ����������1�2 ����>= ����������1�2 ����>����

? �� = )��� � * � <� ����� ���� ����� � 1������� �� 2 ���� �'����1� ��� ����� ���1� 2 �������1� 2 �������1� 2 �������1� 2 �����

����0������3�����4������2 ������������0������ >�������
����2 ����%�����������


����� ������������� �������/�����/�����/������2 ��������� �>�

� * �%�������� �������������� �����%���������������� ����1�2 ���� ��

� �����2 �������������������������� ���������������� �������������� �)��

����� ��� ������� � ������� ��� ��� ����������� ��� ��4���� 52 ����� ������0�� ����

������ ��� ����� ������ ���� 2 ����9� <� ��� ����� ��� ������� � 2 ��� 0�������1�

��� ���������� ��� �� ��������16������ /���/���/���/���� ������� ���� ������� <� �����������

��0��� ��� ��1� ���������� ��� ���� 2 ����� �����/ � ���� ����� �/� ������� � 2 ���

����������� ��� �������� ��� �������� �������0� �/� ���� 2 ����� �1� 2 ����� ����

���������� 2 ��� ��� ��� C������7%� ���� ����� �������0� �����/� ����� �� 4��1�

����������5�4��1����0�2 �����������������1����������0�������������%���������

��������01��/���������������'���������������������4��9 �-����4������3������

��3���2 �1����������������1���������������� ���2 ����%��������������� �0��2 �

����/��������0���������2 ��0�2 �����������/��� �������� �������� �= �������

������ �� 2 �����/���1� ��� ��� /���������1� ������� �� �1���3�� ����%� ���

������������1�2 ����%�2 �����������������������������������������/��3����

���1� ��� �� �� � ���� �1���3�� ����� 4�������%� ���� ������ ��� ����� ��� ����

��������� ��� � ���� ��������� �� ��������������������� ��� ������ �/� ���1� 2 ����� <� ��� ��������������������������������

2 ����2 ����2 ����2 ����%�2 ����������0������%�����4�0���1���0��%���� ��/���������� ������0 �

)��2 ���������������4�����������%� ���������� ����/��� ���� ����������� ������

/��0���� 5������������1� ���� /����� �2 �� /��0���9%� ���� �3����� ���� ��0�� �/� ������0�� �/� ������0�� �/� ������0�� �/� ����

��������������������� 5/�������%� ������� %� ��/�� ������%� ��0��� ������9 � ��� ����� ������� �/�

)�������������+��)0�����������������3����3�%��������������%���/��� ���/��� �

��7�� ���� �� ���� 2 ������ /���� �/� +�� )0���7� ������%� ���� ����4��� 2 ���� ����

���0��0������ �/� +�� )0���� ����4��� ���3� ��� ���� $A&#� � +�� ����� ����

��������������2 ����������� ��������1�2 ��������4������1���4���� ��

� ��������� �����������1� �1������1� ���/���� �'������� ���� �������

����� �������������������4��������8�������2 �������������������/�2 ��������1����

����4������/�����������1��������%���������������4����������� �����0������

�/� )����0�� � ���� )����0��� 2 ��� �������� /��� ���� 2 ����� = ���� 
���� �4��� ��

��������� 1���� �0�� �1� ����� .��� �; %� 2 ��� ��������� � � ��� ���� � �� �����%�

����� � ����� %� �D��� � ���������� � /�����%� ����� �������� ��� ����� /������� �

-�
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�����0�����8�2 �������� ��� ��1� ������4��1�+����1%���/����	 ���%� �����������

�������������C� �3�7����1�2 �����������������������������������/����/����������

2 ���� �� � ���� ������ �����1� -������ �/� � ���� �%� 2 ��� ����� ���� ���������

��� ��
���� ��%�� ������������0����������

�

�4��1� +����1%� ��/���� ���� ������������ �/� 	 ���%� ���� ������� ������

������ 2 ����� ��� ���� ������%� ���%� /��� ����� ���1� �������%� ��� ������

�������������������������4����� �����������%�2 �����������0�����

������%����������������3����2 ���������2 ����%�����������2 ������

������� � �1� ����1� ��� �� �2 �1� ��� ������ 4������� ��� ��� ��� �����3���

������ ������%� /�����%� 4���1����%� ���� ������%� ���� ���� ���4������

2 ����2 ����������� ���������/��%��������� ��� ����2 ��4����������2 ��

/��� J��

��

)����4�������0�������6��� ������������2 ����1�������� �%�0������������%���

������� ���������1��������3������� ����������/� ��3��0����1�2 �������� �����

����������������������0���������������2  ��

� )���1��%�2 �1��'����1�����������������>��

� ���2 ������3����� ����0�������'������2 �1���������� �

�

�

���1�������0�����0� ���1�������0�����0� ���1�������0�����0� ���1�������0�����0� ����

)�
� .����
� �+��)* ��, �
)+�* � �
�* � ��� �� � �2 ����� �0�� �* ����
��������

��1����������������2 �����������/8�����2 �����������������3�8������������

���� ����'��������������������1�2 �1���/�������������0�����2 ���� �������

�������0����� �= �������%���1������1�����3��0%����1��4���2 ����%�����������0�

������1�������������2 ������ ��

� -����/�2 �������4��������������������2 �����1��������2 ����%������������

����������� /��� ��� ��� ����3� ��� � ��%� ���� ��3� 
�� � ��� ��� ����0�� /��� ���� ���

����� ������ ���� � ����%� ��� ��/��� � ���� ����������%� ��� ����4����� �4��� � = �1�

���>�= �1�2 �����
��� �3��������������/�����3��0�������
�� ��/�
������7��

                                                 
J�
 �.������D7�������������C
� ., �= )��� 7��������������������1����E ����52 2 2  ��2 ��4��� ��098�.����; �

� . %��T ; %���� �BJA8�
���� ���F����������1�������G%���� �4%����� . %��T T ; %����%�JJ&�

��
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2 ��������������3����
�� >�= �1�2 �����
��� �3������������
�� �����4���1��/�


������7��� ����������������������>�

� ; ��1�2 �������2 ����2 ������3����
�� >�
�2 ����2 ����3�
�� �����0�>�

= ��������� ��1���3%�/��� ��0�������D������������� ����%�����
��2 ��������8�

���������������������2 �1� �)/�������%�2 ��������������� ��� �= ����������������

2 ���%� ���� �4��� ��� �����0� ��� ��������1� ���������� ���� ���
����4�� ��� ��'����

��4�� ��� /��� ��� �������/�����1� 2 ������� ��1������ �'�������� � .�3�2 ���� ����

���1���������������/�����1��/� ���1������ ����1�� ���������������� ������2 �1��

������%� �4��� 2 ���� ���1��0� �����%� ��� 3���� � )��� ��� ��� ����� ��� ���1� ����0�

� ���������� ����2 ���� �����������%����������2 �1�����������%������������0�����

2 ��� ������������������������0������4��1����5�'�����/�����/�2 ���0��16�����0�

�������������3��+�������9�3��2 ����������������������������������������0����

���1�2 ����2 ���� ����2 ������������ ������1������ ����%�����

�

�

.���������� �����1� ������������������

� ����������� ����������������0����

.���������� �����1� ��������������������������

� ����������� �����1� ��������������������

�

�������
�� ����������� ��������������������

� �������
�� ���������������0���������� �

�������
�� ����������2 ���6�������1� ��������

� �������
�� ����������������1� ���� �I�

�

� ����� � ���������1� ���2 ������%� ����� ���1��0� ��� � ��� 2 ���� ������� ����

�1� ����� ���� ���� 
���� 2 ����%� ��� �����������1� ��4����� /��� ���������� � ����

5��������� ���� ���������� � �����9� ; ����� � ����� /����� � ���� ��� ������4��� ���

�����%�����= ������������ ��/����%������2 ������ ��0��� A�� ��������������


�� ���/� 2 ���� � �����%� �1� ��3��0� �� ���18� 
�� ���� ������� 
�� ���/� 2 ����

��� ����1%��1������ ��0���	 �� �
������������������� ������������ ��������

/��� %�����2 ��������������1���������������� �����
�� �������� ��2 �1 ��

                                                 
I������ ���&6P �
A�H�����$& �
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� ���������������������� ������������� ��� ��������� ���������������������������� �<� ���������

������ ����������������������������1���������%���������� ������������������4��

����0������//���������0��/������ �, ��%�2 ��������%��������������������/�����������

���������������%������ ������/��������� ������4��������������//���%���������

�������/������������� �; ����� ������/����� ���� �

� 	 ����4��%�������1�������//����0����������� �������/�����-��1�����

-������/��������� ��	 ����������2 ��3�1����� �� ������������������������ ���

����������4���� �������
����4��4���������1��%������4�������������� 1�������

������1%�����<����00����0�����M�<����������1�������1��/������0���������3��0�

������ �

�

�

���������� ��������������� ���������� ��������������� ���������� ��������������� ���������� ��������������� ����


� +�� .)+�� ��= � �)� )� � )�
+� 2 ���� ��� ����� ��� ��� ��1� 2 ���� ��� /�����1�

0���0�������	 ����<���/���������� �� ������0�������������3�2 �7���3����

��������0� ��� ���� ����� ���� D��������� = ���%� ������0�����1� ����3��0%�

�������������0�	 ���>��

� )��� ����� D�������� ��� ��4�����1� ����� ��� 2 ���� ���� D�������� ��

���������� ��� ���� ���/����� 
�2 � ������� 	 ���� ��� ����������>� �/� 	 ���� ���

����������1������
����4����������%���� ���������������0�����������7��������/�

��4���������� �������C/����2 ����7������� � ������1�2 ��������������%� �����

�����7����0���������/���3�����0���������������/��3�1 �-����/%���������������

��2 �1�� � ���������� ������ ���� /���:1� ��� ���� C+�'����%� �/� 	 ���� ��� ������7��

��1������ 0�4��0� �/� 
�� ���/� ��� ��� ����1� �4��� �0���%� ����� ���� ���
����4��

�������������� �����������1 ���7����0��������0��/�2 ��/����������%���������%�

������%���4��0%��������/����%������������������/������� �-����/�
������������

��������1��������%� �����2 �������4�����/�������������������������	 �����4��1�

+����1%� ���� /��� ��� ��� 2 ����� �� 
�� � /�����0�1 � = �� ���� ������0� 2 ����

��������� �� ���/�����0���������3��/�������� ���4�� �

� ��������3������/�����������1�����������������/���������������������

������������������/�	 ����5������%�/��� ��%�� �0��/�����%������ �9 ������/�����

���� ����� ���1� �/� 	 ���� �������� �� �����4�%� ���� 2 ���� ��� ��/���%� ���� ������

��������� ��������� �/� � ���� ��������� ���� ��������� ���� ��������� ���� ��������%� 2 ����� � ����� ������7�� ��1������

��������������������������2 ���8����������D����1�������������������������

�/� ���� �����/���� �/� ���� 	 ��������/���� �/� ���� 	 ��������/���� �/� ���� 	 ��������/���� �/� ���� 	 ���%� 2 ����� ��� ��� ��1� ���� ������7�� ������%� ���/���

��
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0�4��0����� ����/��������������0�2 ��������������4���1�0�4��
�� %�
����2 ��

+�� ��

� �������2 �������%�����������������1�����������1%����� �/�������� ����1�

����/������������������ ����/����������������������������/����������������%�

�/�2 ��������1�����������������1������D����� �

� ��������� �����2 ������������ ��� �����0��� �������� ����0�%����������

����� 
�� �������������� �����0�� � �������� ����0�%� ��� 2 ���� ������0����� �����

���� ���������� �/� ������ ���������� ���������� ���������� ���� � +����� ����� ���� 5��� ���� ��� ���� ��09� ����

� ��������� ������/�� ��7��0�������������%�0�����������������������1�������

2 �1 ����1���������� ��������� �����
�������������������%�����
���������1�

������������ �������� �������� �������������7��� ����1������1� �����/�2 �������

0���0��������������1 ����������� �� ��������2 ��������� �3������� � ����������

/���� ��� 2 ���� ������ � = ������� 2 ����� ���� ��2 � ������ �/� ���� ����4������

������� ������ � = ���� � ��� � ���0��� ��� ��� 2 ���� ���� ����������� ��� ����

��� �����0�2 �����7��3��2 ������8�����2 ����4�����������2 �������� %�������

���� ���� ��� �� ��� 2 ���� �������� ��� ������ ����������1� ���� ����4������1�

������������������ H�+? +����������� ����/��� �)0���%��������	 ����2 ���������

��� � ������2 ����� �������������� ��������� ��� ���������������������0����

C������������� � �����7%���������
����4������������0������������������2 ����

� ��8� ���� ��� ��� ���� ���� ��� �� ���� ��� ��� ���� ��� 0���� ��� ���� ��1������

��� � ����������������������������������� �

� +����� ����%� ��� ���� �������� ���� ������0����� ���� %� ���� �//�������� �

���1�2 ��3�������� ���4��%��������1�2 ��3������0����1����������0� �

� �

�

+����� ������ +����� ������ +����� ������ +����� ������ ����


��+)�� )	 �* �).��� �* ���.�������������������� �����	 ����� �������� ���

��� �� ��0������ �����0�� ���� � ����� � �/� �������� ��������� � ��������

��4����� 52 ����� ��� �������� ���� �������%� ���� �� ���1� ��� ��������� ����� ����

-��1��/��������/���4��8�����������2 ���������//����%����������������� ���

��������������������9 �� ��������������������0����������%����/����2 �������� ���

���� � ��� � �0��� ����� ��� ����� ��� ��� �� ��0������ �����0�� ������ � ��������

� �������� �����2 ������ �����������4������������������1���� ����� ����2 ����


�� ������� �������������5���� ��������0����������9��������������2 �1 ���������

��
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����5���� ��������0����������9����������������������������������� �����������

� ��������
�� �����
�������� ��

� +����/�����1%� ������ /��� � ���� ��0� �2 �� ������ ����%� ���� �������

����0������ /�4�� ������ ������ ����%� ����� ����0��0� ���� ������ ��� ��� ����

�����/1��0� ��� ���� ��4�� � ���� ��4��� ������ ������4��� ������ ������4��� ������ ������4��� ������ ����� ���� ������� � ����

���������8� � �����0�8� ����������8� 2 ���� ��� ������� 5��������19� ���/��� �����8�

2 ���� ��� ������� 5�����������19� ���/������8� ���� 2 ���� ��� ������� 54��1�

�����������19� ���� ����� ����� � ��� ����� �/� ������ �4����%� ���� C� �����7� �/� ����

������ ���� <� ��� ���� ������0����� ��1� <� ��� ����� �1� � ��%� ��� ���� ����� ��

����������/�����������%����2 ��3���� ���'���� ��0������ ��������������2 ��� �

= ���� ���� �1��0�� ��� �����4��� ���� ����������� 5���� �����������1� C�'���� ��

�������79%���������������2 �������������/��0���������5C���������2 ���������� 79�

����������1�������1������������2 ����� �� ����������������0�� �0����������

���8� ���� ���� ������� ���� ��������1� ��00��� � ��� ��� 0����� /��0�4������

�����0�������������������/������� %�����2 �������4��
��0�������������1�� �

� /����������� �����������
�������1��4��������1��0�� ���������������������1�

/��0�4��8������������1����/�����0������������������������1������1��/�2 ����%�

�����1�����0����������0%�����������/�������%�2 ������1������������������1���

�/� ���� ���� ������� ��� ���� ���������� ��� ����� ����������� �������� � ����� ���

������ ��

� )�����/��� �������4��������� ����%����������������������������� ������

��
����������0��2 ����%��1��������0����1��/��������� ��/�����������%�����

��0������ ��� ��������� ����0��� ���2 ���� ��4����1� ���� ��� ����1 � ������

����0�� ���� ���� ��%� ���/����0�1%� ������ ������������ ������������ ������������ ������ � +����� ������� ���� ����

������ ����8��������1�2 ��3���������0��1���� �����2 �1 ��������%�����������%�

��4��0���������1����������//����%������������ ���������������//�<����3%���1�

<� ���� �������� ����� ���3� ��� ��3� ����4��%� ��� ��� ������� ������%� ������ ��� ����

��������1� � ��3� �/� �� ������� ��1��0� 	 ��� � 
���%� ���� ��1�%� ��� ���� � ��������

��
���� �����0�� 2 ����� �� ��3� ������%� � 1� 
������%� ��� ��� �������� ��� ����

+����/��� �= ���%���������������1���/����	 ���%���������������3����������������

���������������5� ��� ����0������������1�������0���������������2 ������1�

������������������������	 1����1%�� �1���� �������������������������
�19%����

���������0���� �������1�����/����� ����������� ����� ����+����/�����/�������7��

-��1� � �0��� ��� � ���%� 4�����1� ���� /�����0�1 � )��� 2 �� �����4�� ����� � ���

���2 ���� ���� ���������� ���1���� �/� ���� 2 ����� ������ � 
�� �������� ����
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/��� �%�������� ���������������0������� �����������3� ��4������ �����0����

���/���0� ��� �� ������ ��� �� � ����� � /��� 
�� � ��� ������ ���� ��/�� ����� 
���

���/������8� ���� �����/���� ������ ��� �� ������� �2 �� ��������0� ��� 4���� ����%�

�����������1����������� ������%�����������/������ �������1�����������������

��������������
�1 ��

����

����

-��3�������1�2 ���� -��3�������1�2 ���� -��3�������1�2 ���� -��3�������1�2 ���� ���� ����

..� �
�+� �? � � �� � �
�� .� � , � ����0�� ��� ���3� ��� ������ ��2 �� ��� ������

�������� � ���� �%� ���� -������ 
���� ��7�� /������1� ��00������� ����� ����

/���3�� �0�����3����������3������1�2 �����������������4����� �

� 
��1� 2 ����� ��%� ���1��7��� ��4�� 0������� �1� ��2 %� �� ������ ����� � ����

�������������� ����������/1���������/��� ���2 �1��/���3��0�� ��7���������0����

����0� �= ����
���� ��7�����������3�����3����1�2 �������� ����������������

����/���3��������� ���� ����2 %� ���1�2 �������������0�� ��� ��������/��� ������

������%����2 ������������2 �������������������� ������7������������/������

��������������������������8����������7�����������������������������������1���

�/� �����3����2 �����2 ���� �������D����� �������1�2 ����� ���1�� �0�����4��

�������������/��� ���3��0�� ���/����������� �

� * �����������2 �����4��1����D���� �� ���������������4��� ������3��/����

������
��������������������4�0������������/�������������1��/�� ���� ���������

������ ������1 � ��� ����4��� ��� ��� ���� 0����/���1� ���� ������ ����� ���� �4���

���������� ����������4�����/�������1������������52 �����������������2 ����

	 ������/�����2 ����������9 �= ������������1�/���/��0�4������2 ���%������2 ��

2 �������������� ����������������������������������������0��������)����0��%�

/��� ����� ������� ��� �������� ���� /����� � ���� ���������� � ������� ��2 �� ����

��4�%�����2 ��0�������2 ����������������������3���� �������������/����1���

/��� � 1���� 2 ����� ������ ����� 2 ��3 � ���� ������ 0�� /�1� �����0�� ���� ���%�

�������0��������%������� ��3��0������1����1����/��� ��������1����������� �

�������2 �� �� /�������������7������ �0����������2 ����8����������4�4����������

����2 �1�����������������������������1�/���1��������2 ���/��0�4�����%�����

�����4�4��������������2 �1�� ���������������������������/��0�4��1�� ��

� = �7��� ��� �� ���3� �/���� ��� ����� ����%� /��� ��� ����� ��� ���� ������ �/� ����

������ ����� ����0���%����������1������������4�������������������2 ����� ����0�

����4�������1 � 	 �������� ������� ����� � ����1� 4������ ���1��� ��� 0���%� �����

)�



 22 

�������� 2 �� ���� ���� � ����1� 4�����8� ���� �������� 5/��� � ���� �� ��������19�

� �������0�4���
�� ���/���������� ��%���� ���2 ������-��18�2 ����������������

� ��7����4����� ���������������
������2 �����������������
���-��1����	 ��� �

������������1����������������/��� �������� �������%������������������������8�

������������1�������������������4����2 ����%������������4������%���4����������

�/� 4���� ����%� ��4����� 2 ����%� �������%� ��������%� ��������� �/� ���� ; ��0��%�

������%������ �����/����� ���� ������ ����� ���� ���4�� �+����������� ����0������

������2 %������������������8����1������������0����/����������������5���������

����� � ������� 4��1� � ���9%� ���� ���1� ���� ���� ���0��� �/� �//����4�� ���1���

52 ������ ���������0��������9 ��

� ����0�������1 �-��3������������������������������ �

� 
��1�2 ��������C� ���7��4��1�����/�����1���������%�2 ���C�'�������7�����

��������2 �����2 �������������3��0�/��� �����/����1��%� �����C�'�������7�����

�������������2 �������������������3��0�/��� �����/����1��%������� ��0��������

�2 �� ��0������ 2 ����� �������0� 1��� �������� ���1�� � , ��� � �1� ��1� ����� �����

������������� ��3����� �0��������8� �� ���������������8����� ������ �������������

� �����������������3������������%����������� �-1�C� �3��07����1�2 �����2 ������

��3��0� � ��� ��� ��� 0���� ��� ��1���� 2 ��� ������ ��� ���� ���� ���//�� ����� ���

���/����1��������� � ��� ���������������1�2 ��������3������� ���� �������1������

���0��� ��������3%��/������������)���� ��������0�%��������2 ���//������0����

��� ���������

� )� /�2 � ���/���� �/� ���1� 2 ����� 2 ��� ������� ����� ���� ���3��� �1� ����

���������� ��/���� 	 ���%� ���� ��2 � ��� ���� ����� ��4����1� ���������� ������ ����

������������������1����3����/����������0������  ��

� ���� )����0��� ���� ���2 ��0� ��� ��� ��� � ��� ���� ��3��� �� ���0� ��� �� ���

������������������� %������1���������2 ��/�������������4��������� ��0�52 �����

���� ��� ��� ���������� /��� ��2 %� ��/���� � ���� ������� ��0���9%� ���� �����1�

�������� 	 ���� ��� ��3�� ���� � ��� ������ ��� ��� ���� 0�:�� ��� �4��1� ����� � ����

�������������� �:��0�1�����%������� �:��0�1�����������2 ��������������� �

H���� ��� ���� ��/�������� ��� ����� �/� 1���� ���1� ��������� ���� 1���� �  *  ) %� ���

����� �� ����3� �/� 1���� /��0��6����� ���������� 1���� ����6������� ���� ��4��6

��� �������� �����4��� � ���� �/� 1���� ��� ����� ���%� ��� ��1��������� �/� ����

	 ������� �����������������2 ���� ��/�2 ��������������0��1�����������������

���0���������/����1�2 �����/�1��0������0���������%�2 ��2 �������4����������

����������������/������� ������%� ����� 1����1��/����������� ����%� �����������
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�/����������������������/%����������������������/�� �� �+����������7������3�

2 �74���'�������� ���� ��������/� ���� �������������4��� ���� �������:�����0���

5������������ �����������1���0��������1����������������������1�� �����/���9%�

2 ����� � �3��� � �� �������� �� ��4��7�� ���D�����1� �������� ��� �4��� ����

� 1����1��/����1�2 ���� �)��2 ����<�2 ����2 �74�������2 ������4������� �

�

�

� �%��� � �%��� � �%��� � �%��� ����


�� )+��� � �+� )� �� � � * � � � ��� 0��0�����1� ����������� ������� � ���������

�2 ��0������������ ��������3����������������%����3�������������4����1�

����������� ���4���� 2 ��� ������ 2 �����0� /��� ����  � ���� ����� �/� )����0��� ���

���������%� ���� ���� ����� ���� ����� ��� ����� ��%� ����� ����� /����� ����� ��� ����

��� ���� ���%����'���������%���������1�/���� ���������������������������0����

��/� � ��� ��� ��� 0���� ���� 4�������� ����%� �� ����� ���� ���� ������ ����� ����

������ ������%� 2 �� ����0��1� ����� ��� ���� +����� ���%� ���� -����U�� +����� ������� -����U�� +����� ������� -����U�� +����� ������� -����U�� +����� ��� �

�2 � ��� ��� ��� �� ��� ��0��� ��� ���3� ��� ���� 	 ���� 
��1� 	 ���%� ��� 2 �����

�4��1����0���4������/�� 1����1%����2 ��������������������������<��/�2 �����

������0���������������1�0��������1������ ���%��/�2 ��������������������0�

����2 �����0��������'������� ��

�
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